
Lecture 10 - Oct. 18

Syntactic Analysis

CFG: Case Studies
Semantic Analysis vs. Ambiguity



Announcements
- ANTLR tutorial
+ RE
+ CFG
+ OOP and Composite & visitor design patterns

- Project to be released by next Tuesday’s class
- A possible alternative to ProgTest?

14:30 to 16:00, Tuesday, November 1
- Programming Test date:

+ 2:00pm to 3:20pm on Saturday, October 29
+ Venue to be confirmed (LAS building)
+ Practice Test

- Quiz 2 on Thursday, October 19
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Discussion: Compare Two CFGs
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Context-Free Grammar (CFG): Example Version 1
Example: (1 + 2) => (5 / 4)

contains
:--> )mantic be

error todiscovered

an
AST/PT Notalropneaand

Is this
valid meaning?

--

with " Exp showgateapitare
ExpE Exp semantless.
/ll

5 -
b witness <Exp> <p>-ciate
100l

↳ allmoving BilOx BstOp
for I biguity ExpHLRseriesanaw<exercises-



Context-Free Grammar (CFG): Example Version 1
Example: 3 * 5 + 4
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Context-Free Grammar (CFG): Example Version 2
Example: (1 + 2) => (5 / 4)
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Context-Free Grammar (CFG): Example Version 2

Q: No semantic analysis at all 
for Version 2 grammar?

Example: (1 + 2) => (5 - (2 + 3))
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Context-Free Grammar (CFG): Example Version 2
Example: 3 * 5 + 411.

Exercise: show we grammar is

ambiguous.


